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150-151 [(1) (a) 05 (b) 025  ({c) 02 (d) 0.1
{(e) 005  (f) 004 (g) 0.02  (h) 0.01
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164 (1) (a) Whot percentage of the grid is light green?  (b) What percentage of the grid is dark green?
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12 |%

31 %

(c) Whot percentage of the grid is grey?
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(3) (o) “What percentoge of the rectangle iz grey?
* 10

{b) ¥vhat percentoge of the rectangle is light green?
"0

{c) “What percentoge of the rectangle is dark green? (d) ‘WWhat percentage of the rectangle is white?
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(7) (o) How many bricks are in the shope of a hexagon?

@
Recollthat | 40 % = o

; | 40
So. 40 j%of 180 =—m

=2

* 180

S0, 72 |bricks are in the shape of a hexagon.

(b) How many bricks are in the shope of a rectangle?
1001-2.)108)

So, l_qpibdclaammmshopodancmnqh.
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(8) (o) How much is the discount?

25 1
Recall that ZSVIX-—W—O'-T

I
So. 25 |%of$| 24 |=~7—x| 24 |

- 6‘
So, the discountis$ 6 .

(b) What is the discounted price of the football?
24 j-|_6 j={ 18

So, the discounted price of the football 5§ 18
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(9) (o) 31%oi50= 16

(b) 40%ofss= 18
L0 _ 4D x 45
[T
- 180
T

=18

(€) 7sxofs0n= 45

75 75 % ED
100 = 80 =T
- 4500
T00
= &5

(d) &1%ef150= 63

&2 41 % 150

oo * 1530 =30
_ 300
=7
=43

1& 1é& = 125

—¥

iy 125 100
2000



(f) Skelso= 28

(9) 2% of225= 207

T _ @ x 335
T * 125 =g
_ 20700
100
= 207

(h) 28%of200= 56

18 28 = M
104 200 10
_ 5400
100

=56



